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Please write your name at the space provided:
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• There are ten (10) multiple choice (MC) questions here and you are to answer
all questions asked. Each question is worth 10 points. Partial points will be
granted for those who provide detailed solutions.

• Additional question, on separate sheets, worth 20 bonus points are provided
selectively to those with diligent attendance.

• Please provide details of your workings in the appropriate spaces provided;
partial points will be granted.

• Please write legibly.

• Anyone caught writing after time has expired will be given a mark of zero.
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Question No. 1: (10 points)

ABC Insurance Company sells N fully discrete whole life insurance policies with death benefit
of $100, each with the same age x. You are given:

• All policies have independent future lifetimes.

• i = 5.5%

• äx = 9.95

• ä2 x = 7.14 (This is life annuity calculated at 2δ.)

• The annual contract premium is $5.33 per policy.

• The 99th percentile on a standard normal distribution is 2.326.

Determine the smallest N so that ABC has at least a 99% probability of a gain from this
portfolio of policies.

(a) 1

(b) 118

(c) 399

(d) 1,232

(e) 3,715
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Question No. 2: (10 points)

For a fully discrete whole life insurance issued to (x), you are given:

• i = 5%

• qx+10 = 0.0268

• qx+11 = 0.0288

• 10.5V = 343.29

• 10.7V = 340.48

• Deaths are uniformly distributed over each year of age.

Calculate the amount of the death benefit (to the nearest hundred).

(a) 1,000

(b) 1,100

(c) 1,300

(d) 1,400

(e) 1,500

3



STT 456, Actuarial Models II, Spring 2015 Class Test 1

Question No. 3: (10 points)

You are given the following multiple state model:

AIDS
(2)

HIV positive
(1)

uninfected
(0)

dead
(3)

The forces of transition are the following:

• µ01 = 0.004

• µ03 = 0.006

• µ12 = 0.400

• µ13 = 0.200

• µ23 = 0.350

Calculate the probability that an uninfected person will be infected with HIV, that never
developed to AIDS, and die within 10 years.

(a) less than 0.01

(b) at least 0.01, but less than 0.02

(c) at least 0.02, but less than 0.03

(d) at least 0.03, but less than 0.04

(e) at least 0.04
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Question No. 4: (10 points)

For a fully discrete whole life policy of $100,000 issued to (50), you are given:

• Expenses, incurred at the beginning of each year, are summarized below:

% of Premium Per Policy
First year 25% 15
Renewal years 5% 5

• Gross premium is determined according to the actuarial equivalence principle.

• i = 4%

• ä50 = 11.007

• ä55 = 9.450

Calculate 5V
g, the fifth-year gross premium reserve (to the nearest ten).

(a) 12,190

(b) 13,170

(c) 14,150

(d) 15,130

(e) 16,110
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Question No. 5: (10 points)

For a whole life insurance policy of $1 issued to (x), you are given:

• Death benefit is payable at the end of the year of death.

• Level premiums are payable annually at the beginning of each year, only for the first n
years. There are no premiums after n years.

• Reserves are calculated based on the Full Preliminary Term (FPT) method.

Determine β in the FPT calculation.

(a)
Ax+1

äx:n

(b)
Ax − vqx
ax:n

(c)
A

x+1:n−1

ä
x+1:n−1

(d)
Ax+1

ä
x+1:n−1

(e)
Ax+1

äx:n − 1
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Question No. 6: (10 points)

For a 10-year endowment insurance on (55), you are given:

• The death benefit, payable at the end of the year of death, is equal to 2500 plus the
benefit reserve.

• The endowment benefit is 5000.

• Level premiums, P , are payable annually at the beginning of each year.

• q55+k = 0.01, for k = 0, 1, 2, . . .

• i = 5%

Calculate P .

(a) 355

(b) 367

(c) 375

(d) 390

(e) 402
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Question No. 7: (10 points)

You are given the following health-sickness multiple state model:

healthy (h) sick (s)

dead (d)

In calculating transition probabilities, the Euler method is being used with a step size of h = 1
4
.

Transition intensities and some estimated probabilities for the first year are given below:

t µhs
50+t µhd

50+t µsh
50+t µsd

50+t phht 50 phst 50 phdt 50

0.00 0.00387 0.00653 0.00077 0.00653 1.00000 0.00000 0.00000
0.25 0.00399 0.00666 0.00080 0.00666 0.99740 0.00097 –
0.50 0.00412 0.00680 0.00082 0.00680 0.99475 0.00196 –
0.75 0.00425 0.00693 0.00085 0.00693 0.99203 0.00298 –
1.00 0.00438 0.00708 0.00088 0.00708 – – –

Give the estimate for phd1 50 .

(a) less than 0.0058

(b) at least 0.0058, but less than 0.0062

(c) at least 0.0062, but less than 0.0068

(d) at least 0.0068, but less than 0.0072

(e) at least 0.0072
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Question No. 8:

An insurer issued 400,000 fully discrete whole life insurance policies to lives all exactly age 50
on January 1, 2005. Each policy issued has a death benefit of $100,000 with an annual gross
premium of $2,600.

You are given:

• The following values in Year 2014:

anticipated actual
Expenses as a percent of premium 0.05 0.06
Annual effective rate of interest 0.02 0.05
q59 0.0085 0.0090

• The gross premium reserves per policy at the end of Year 2013 and Year 2014, respectively,
are:

9V = 2, 044.32 and 10V = 2, 324.13

• A total of 385,100 remain in force at the beginning of Year 2014.

• Gains and losses are calculated in the following order: interest then expenses then mor-
tality.

Calculate the total gain (or loss) for this portfolio of policies in Year 2014.

(a) a loss of 23.7 million

(b) a loss of 22.8 million

(c) zero gain or loss

(d) a gain of 22.8 million

(e) a gain of 23.7 million
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Question No. 9:

For a fully discrete 10-year deferred whole life insurance of $1 on (45), you are given:

• The annual benefit premium is payable only during the deferred period and no premiums
are to be paid after the deferred period.

• A55 = 0.3895;

• 10E45 = 0.6588;

• ä45 = 18.8230;

• q54 = 0.004; and

• i = 4%.

Calculate the 9V
n, the net premium reserve at the end of 9 years.

(a) less than 0.30

(b) at least 0.30, but less than 0.35

(c) at least 0.35, but less than 0.40

(d) at least 0.40, but less than 0.45

(e) at least 0.45
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Question No. 10:

For a fully discrete whole life insurance of $10,000 issued to (50), you are given:

• Mortality follows the Illlustrative Life Table.

• i = 6%.

Calculate 15V
n, the net premium reserve at the end of 15 years.

(a) less than 1000

(b) at least 1000, but less than 1500

(c) at least 1500, but less than 2000

(d) at least 2000, but less than 2500

(e) at least 2500
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EXTRA PAGE FOR ADDITIONAL OR SCRATCH WORK
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